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M.Com. (Previous) EXAMINATION, 2022
(COMPULSORY)
PAPER THIRD

ACCOUNTING FOR MANAGERIAL DECISIONS

Time : Three Hours] [Maximum Marks:100

 


Note :Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

 Unit - I

1. 

P.T.O.
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Discuss the importance and limitations of Manage-
ment Accounting.

OR



 

 

 

 

Write short notes-

(a) Expenses centres

(b) Advantages centres

(c) Investment centres

(d) Responsibility Accounting

Unit - 2

2. 





[3]

F- 3083

 

 

 

 

 



% 

 

 

 

 



% 

 

 

 



% 70% 
70% 85% 
10% 85% 100% 15% 


P.T.O.
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60% 80% 
%42,50,000 
60%, 80% 
100% 

The following information related to the productive
activities of Good Wishes Ltd. for three months ended
31st March, 2021.
Fixed Expenses : Rs.
Management-Salaries 2,10,000
Rent and Taxes 1,40,000
Depreciation on Machinery 1,75,000
Sundry office Expenses 2,22,500

7,47,500
Semi Variable Expenses at 50% capacity :
Plant Maintenance 62,500
Indirect Labour 2,47,500
Salesmen’s Salaries 72,500
Sundry Expenses 65,000

4,47,500
Variable Expenses at 50% Capacity :
Materials 6,00,000
Labour 6,40,000
Salesmen’s Commission 95,000

13,35,000
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It is further noted that semi-variable expenses remain
constant between 40% and 70% capacity; increase
by 10% of the above figure between 70% and 85%
capacity and increase by 15% of the above figures
between 85% and 100% capacity. Fixed expenses
remain constant whatever the level of activity may be
sales at 60% capacity are Rs. 25,50,000 at 80%
capacity Rs. 34,00,000 and at 100% capacity Rs.
42,50,000. Assuming that all items produced are sold.
Prepare a flexible budget at 60%, 80% and 100%
production capacity.

OR

60% 
40% 30% 


60 















P.T.O.
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In a Brass Foundary the Standard mixture consist of
60% of Copper and 40% of zinc. The Standard Loss
of Production is 30%

Standard mixtures and yield were as follows :

Copper 60 kgs. @ Rs. 8 per kg.

Zinc 40 kgs @ Rs. 15 per kg.

Standard yield 90 kgs.

The actual mixtures and yield were as follows :

Copper 90 kgs @ Rs. 7 per kg.

Zinc 60 kgs @ Rs. 12 per kg.

Actual yield 120 kgs.

Calculate Material Variance from the above
informations.

 Unit - 3

3. 


What is marginal Costing? Discuss its advantage and
limitations.

OR
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


  

 

2020 2,00,000 10,000

2021 1,80,000 4,000



 

 

 

 

 

 

Dhruwa Ketu Ltd. has placed before you, the  following
trading results :

Years Sales Profit

Rs. Rs.

2020 2,00,000 10,000

2021 1,80,000 4,000

P.T.O.
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Find out-

1. P/V Ratio

2. Fixed Costs

3. B.E.P.

4. Amount of Profit if the sales is Rs. 2,50,000

5. Sales in rupees when desired profit is Rs. 7,500

6. Margin of Safety at a profit of Rs. 11,250.

 Unit - 4

4. 




 

 

 

 

 

 
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

 
 

  

  

  

  

  

  

  

Calculate Net Cash Flow Operating Activities from the
following informations :

Rs.

Profit made during the year 50,000

Transfer to General Reserve 10,000

Depreciation Provided 20,000

Profit on Sale of Furniture 5,000

Loss on Sale of Machine 10,000

Preliminary Expenses Written off 10,000

P.T.O.
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Additional Informations :

1st Jan 31st Dec

Debtors 10,000 15,000

Bills Receivable 7,000 5,000

Stock 15,000 18,000

Prepaid Expenses 2,000 3,000

Creditors 20,000 18,000

Bills Payable 15,000 25,000

Outstanding Expenses 3,000 4,000

OR




What is Fund Flow Statement? How does it differ from
Income Statement and Balance Sheet?

 Unit - 5

5. 


Discuss the importance of reports for management.
What are the essential characteristics of a good report
for management ?
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OR











Write short notes :

(a) Management Information System

(b) Report to Sales Manager

(c) Internal Reports

(d) External Reports


